CLASS : 12th (Sr. Secondary) Code No. 4313
Series : SS-M/2019

Roll No. SET : A
L MAP
GEOGRAPHY
[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 60

° I T F @ [ 54 JIT-TH 7 Fha gE 15 T
79727 81

Please make sure that the printed pages in this
question paper are 15 in number and it contains

27 questions.

° T97-YF H qlfed &1 @l S R4 T4 FE T_T T G FH
B F-GIéTel % §&g-95 g7 [ord)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.

4313/(Set : A) P.T.O.

Previous Pathshala




(2) 4313/(Set : A)

® YT J97 F FIV [i@T §&@ #I7 d Bl FIT B FHEH
T fored

Before beginning to answer a question, its Serial

Number must be written.
» JTT-giaH % &5 4 @il G/ 91 T B
Don’t leave blank page/pages in your answer-book.

o FUT-gRTE % Slandd @ o de TE AR o
STaeTHAarT & ki@ 3T iar Gay 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o TXETE] ST TieT To FHT-YA YT a9 [l
Candidates must -write their Roll Number on- the
question paper.

» ZUF 557 F GaT &7 @ gd 48 GAREad &Y o [F Je7-0E
g7 a @&l & GhEr % ST 39 a5 § #HE A a@r
@B Tel 13T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4313/(Set : A)

Previous Pathshala




(3) 4313/(Set : A)

G 35T : -

(i)
(%)
(iii)
(iv)
(v)

vy
(vii)

a4t g97 g &
JA% 97 & 3% Iq% GrHT F9T T &

T & TV FTH HABFAT §

797 G 27 [397 % qAEE # A3T @ e 8l
g & A @ ET ST Fae-gikawl & &E
Forged & ST

B[ Y 91 G-Il &l %% Savq [7a)
5 3@l g Z8 goHl 4 Gl w97 JaIT 59T

8 08 gea 7 @ ongml dad @ & g7
FOTT &

General Instructions : -

(9
(%)

(iii)

4313/(Set :

All questions are compulsory.

Marks for each question are indicated

against it.

Answer questions according to their marks.

A) P.T.O.

Previous Pathshala




(4) 4313/(Set : A)
(iv) Question No. 27 is related to filling the
outline map of the World.

(v) After filling the map of the World it should be

securely tied in the middle of the answer-book.

(vi) You must write your Answer-book Serial No.

on the map.

(vii) Internal choice is given in some questions of
5 marks. You have to attempt only one of

the given choice in such questions.

1. 9T | Yecl Q01 SO B 1
When was the first complete census held in
India ?

2. WA # U 99§ HaiE opE § ? 1

Which State of India has maximum migrants ?

3. fava § 9@ A% THEE 9 TR HHA-A1 T ? 1

Which is the largest populated town of the
World ?

4313/(Set : A)

Previous Pathshala




(5) 4313/(Set : A)
4, IRTBEE A9 & & AN g 1

Write two activities of the earliest man.

5. 9Rd @ fhg T et § e HEer &8 7 7 1

In which river valley of India Gondwana coal

fields is situated ?

6. fafere ardl wer Reg 2 ? 1

Where is the Silicon Valley located ?

7. TOEASET TeME 6T & TR Bl SSdl § O 1

Which  two @ towns  are  connected by

Transcanadian Highway ?

8. PHN-H TR Tgd Yea Al T s+ ? 1

Which town was the first Urban settlement to

reach a population of one million ?

4313/(Set : A) P.T.O.

Previous Pathshala




(6) 4313/(Set : A)

9. WRA H I WA AYSH & YqW HAd B TH e 1

Write the name of the Headquarter of the

Northern Railway Zone.

10. fr=faiea & o f69 werEiv & SHoe gis waiees o ¢ 1
(%) s
(@) uRmn
() & AR
(8) SR AR

Which one of the following continents has the

highest growth of population ?
(A) Africa

(B) Asia

(C) South America

(D) North America

4313/(Set : A)

Previous Pathshala




(7) 4313/(Set : A)
11. fr=ifefaa & § f9-91 tF ufoed sn® 78 2 7 1

()  ferfercan/Quors gfremd

(7) wemfREr

Which one of the following is not a push factor ?
(A) Water shortage

(B)  Unemployment

(C) Medical/Educational facilities

(D) Epidemics

12. f=fafag & § SF-1 39 S 999 fJe@ aren 39 78

g7 1
(%) S (@)
(M) = (7) ofiveHT

4313/(Set : A) P.T.O.

Previous Pathshala




(8) 4313/(Set : A)

Which one of the following is not a country with

high human development ?
(A) Japan (B) Norway

(C) Egypt (D) Argentina

13. ot & o & de e o § ot § 7 1
(@) wEfor @ TRE
(@) zmier & I
(M) FrE & TRE
(9) g & e
In which stream female migration is highest ?
(A) Rural to-Urban
(B) Rural to Rural
(C) Urban to Urban

(D) Urban to Rural

4313/(Set : A)

Previous Pathshala




(9) 4313/(Set : A)

14. frfafag & 9 69 w@Ee & oRRra ardor sRaar @
oe 7& @ ST G ? 1

(®) W F SAG AeH

(@) fewraa @t Fraeh aifeat

(M) I % g AR G-I T

(9) ST & a9 M gersar

In which of the following environments does one

expect the presence of ~dispersed rural

settlements ?

(A) ‘Alluvial-plains of Ganga

(B) Lower valleys of Himalaya

(C) Arid and Semi-Arid-regions of Rajasthan

(D) Forests and Hills in North-East

15. fr=fofag & 9 59 a¥ § vear WD FEdww gaRa

gaT o ? 1
(®) 1911 (@) 1936
(m 1927 (@) 1923

4313/(Set : A) P.T.0.

Previous Pathshala




16.

17.

18.

19.

(10) 4313/(Set : A)

In which of the following year, the first radio

programme was broadcast ?

(A) 1911 (B) 1936
(C) 1927 (D) 1923
yarg & onfiies aftoms o € 7 2

What are the Economic Consequences of

Migration ?

IR ® BT & 1 ST & ° 2

What is the basis of classifying settlements ?

o URaed ® 1 @9 8.7 2

What are the advantages of water transport ?

e 9 & fahr HRieH & I8 | 3

Write the objectives of Drought Prone Area

Programme ?

4313/(Set : A)

Previous Pathshala




(11) 4313/(Set : A)

20. A4 [JHME STaURN & ST GHdT X gad e
T oY FT g9 & 7 3

What do equity and sustainability refer to within

the concept of human development ?

21. T SR Qarsd § X W Hi 3

Distinguish between Port and Harbour.

22. SHifhehid GHACT UX U Hier fewofl fiiay 5

Write a short note on Demographic Transition.

HYqT

OR

AT § SEe g # e staeelt @ aue Hifty

Discuss the different stages of population growth

in India.

4313/(Set : A) P.T.O.

Previous Pathshala




23.

24.

(12) 4313/(Set : A)

ATl IERY AR Y e I A oW W
Hif 5

Differentiate between Nomadic Herding and

Commercial Livestock Rearing.

AYqT

OR

TAGHR USET g1 ® L @ oY Ged &% g8 gad
qrefir. foere U wewayel il ST B TRl © 7

Whatis Watershed Management ? Do you think
it can play-an important role in sustainable

development ?

qRT & AIB-9T%h & IR a0 [Jaxer & 9o &4 5

Describe the production and distribution of Iron-

ore in India.

4313/(Set : A)

Previous Pathshala




(13) 4313/(Set : A)

YqT

OR

IR § STIRET ot & diEFl W) T e o

Write a note on Non-conventional Sources of

Energy.

25. %= 5R & Igd JeR @ el @l e & 5

Explain various type of Quaternary Activities.

Yq[

OR

qd § AT ST & 90X ST &l auie i)

Describe the distribution and production of

Sugar Industry in India.

4313/(Set : A) P.T.O.

Previous Pathshala




(14) 4313/(Set : A)
26. ‘g YGUT & HROI g YAE H U BT 5

Describe the causes and effects of 'Air Pollution'.

YqT

OR

‘G- W wsh Tie e

Write a note on 'Land Degradation'.

27, Q. T fa¥g & @ AEE -G MERad @ Sifhd
i 1x5=5

Show the following on.the given outline map of

the World :

i
Perth,

(i) <A,
Tokyo,

4313/(Set : A)

Previous Pathshala




(15) 4313/(Set : A)

4313/(Set : A)

Previous Pathshala



CLASS : 12th (Sr. Secondary) Code No. 4313
Series : SS-M/2019

Roll No. SET : B
L MAP
GEOGRAPHY
[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 60

° I T F @ [ 54 JIT-TH 7 Fha gE 15 T
79727 81

Please make sure that the printed pages in this
question paper are 15 in number and it contains

27 questions.

° T97-YF H qlfed &1 @l S R4 T4 FE T_T T G FH
B F-GIéTel % §&g-95 g7 [ord)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.

4313/(Set : B) P.T.O.

Previous Pathshala




(2) 4313/(Set : B)

® YT J97 F FIV [i@T §&@ #I7 d Bl FIT B FHEH
T fored

Before beginning to answer a question, its Serial

Number must be written.
» JTT-giaH % &5 4 @il G/ 91 T B
Don’t leave blank page/pages in your answer-book.

o FUT-gRTE % Slandd @ o de TE AR o
STaeTHAarT & ki@ 3T iar Gay 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o TXETE] ST TieT To FHT-YA YT a9 [l
Candidates must -write their Roll Number on- the
question paper.

» ZUF 557 F GaT &7 @ gd 48 GAREad &Y o [F Je7-0E
g7 a @&l & GhEr % ST 39 a5 § #HE A a@r
@B Tel 13T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4313/(Set : B)

Previous Pathshala




(3) 4313/(Set : B)

G 35T -

(i)
(%)
(iii)
(iv)
(v)

vy
(vii)

a4t g97 g &
JA% 97 & 3% Iq% GrHT F9T T &

T & TV FTH HABFAT §

797 G 27 [397 % qAEE # A3T @ e 8l
e & A @ AET T Fae-gikawl & &E
Forged & ST

B[ Y 91 G-Il &l %% Savq [7a)
5 3@l g Z8 goHl 4 Gl w97 JaIT 59T

8 08 gea 7 @ ongml dad @ & g7
FOTT &

General Instructions : -

(9
(%)

(iii)

4313/(Set :

All questions are compulsory.

Marks for each question are indicated

against it.

Answer questions according to their marks.

B) P.T.O.

Previous Pathshala




(4) 4313/(Set : B)
(iv) Question No. 27 is related to filling the
outline map of the World.

(v) After filling the map of the World it should be

securely tied in the middle of the answer-book.

(vi) You must write your Answer-book Serial No.

on the map.

(vii) Internal choice is given in some questions of
5 marks. You have to attempt only one of

the given choice in such questions.

1. STHIhT I U @ivieT 8351 g1 Sel g4t SHaen & 2 1

Name a mineral belt in Africa which has dense

population ?

2. fasg # TR S9En F U e & ? (@, 2001)
1
How much population of World lives in Urban

Area ? (Year, 2001).

3. W TeX H [FHOT e I ? 1
When was Suez Canal constructed ?

4313/(Set : B)

Previous Pathshala




(5) 4313/(Set : B)

4. ST s yeu g 3w A B ? 1
In which country Ruhar Industrial Region is
located ?

5. 9RA & FEA & & @ T B A9 T 1

Name two groups of coal fields in India.

6. 39 Y H M ¥ TRl FEe® w4 § & fhaH
eI HET & 9 B 7 1

Write the name of the country where every
farmer is member < of Co-operative . Society

generally.

7. WG B GEhih bl GfUET F9 [har T 7 1

When was Human Development Index created ?

8. WRA § G99 JAfH Yare fe a3 9 o © ? 1

From which country maximum migration has

taken place ?

4313/(Set : B) P.T.O.

Previous Pathshala




(6) 4313/(Set : B)
9. 9RJ H H99 1 TSI HeMF $H=-91 & ? 1

Which is the longest National Highway in India ?

10. f9 O ® ‘A1 FH FEd § ¢ 1
() e FEERer
(@) g T
() iR qEeReT
(7) STEnfEe waEseT
Which element is-called 'Mother Nature' ?
(A) Physical Environment
(B) Cultural Environment
(C) Political Environment

(D) Industrial Environment

4313/(Set : B)

Previous Pathshala




(7) 4313/(Set : B)

11. f=fafed & @ &9-91 6 YR § 959 999 & 7

HROT T ? 1

() frem

(7) ®M T AT

Which one of the following is the main reason for

male migration in India ?
(A) Education

(B) Business

(C) Marriage

(D) Work & Employment

4313/(Set : B) P.T.O.

Previous Pathshala




(8) 4313/(Set : B)
12. fidigd § @ e FRE qET § JarE Saedn &
e it © ? 1

() H T we
(@) dde T g
() foet it e
(7) = Tl e

Which one of the following' Urban Agglomeration

(UA) has the highest share in migrant population ?
(A) Mumbai UA

(B) Bengaluru UA

(C) Delhi UA

(D) Chennai UA

4313/(Set : B)

Previous Pathshala




(9) 4313/(Set : B)
13. = &R @l § | R e o de-wed 5 ! 1

In which of the following trade blocks, is India

an associate member ?

(A) SAFTA (B) ASEAN
(C) OECD (D) OPEC

14. &HH-61 TR FHHRA TR © 7 1
(®) feseh (@) g
(r) @ e

Which is a medieval town ?

(A) Delhi (B) Mumbai
(C) Chandigarh (D) Patliputra
4313/(Set : B) P.T.O.

Previous Pathshala




(10) 4313/(Set : B)

15. f=fofed & @ ®9-9 us onfdie fhar ardior sRaat @

16.

17.

18.

e S fear © 7 1
(%) o (@) s
() facha () =g

Which one of the following types of economic

activities dominates in all rural settlement ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary
qRAETANIE XA & & ¢ 2

What is a Transcontinental Railway ?

TqE & G 9RO 1§ 7 2

What are the socio-consequences of migration ?

TG TR 1 B & ? 9 9491 HE B © 7 2

What are Garrison towns ? What is their

function ?

4313/(Set : B)

Previous Pathshala




(11) 4313/(Set : B)

19. 99 O™ S@URYM & ST=Fid ddd QuUiEdr 9 &Y
T THE © ° 3

What do sustainability refer to within the

concept of human development ?

20. T & fhrg HEHA FHEl-Hel W S U 7w & ?

3

In. which areas Hill' Area  Development

Programmes was initiated ?

21. fEUEE &N AR Sg0lE IR § o) @ B 3

Distinguish = between = Bilateral Trade and

Multilateral Trade ?

22. YT & SHEE g9 H TG UT [99quer difem - 5

Analyse State-wise population density of India.

4313/(Set : B) P.T.O.

Previous Pathshala




(12) 4313/(Set : B)
S|

OR

e g & v &5 & o it

Describe the scope of Human Geography.

23. I FN H Jo Fwan aaEn @ R et |
IS S Al B 9@ A9 HEal & A9 a5d 5

Discuss = the main features. of _Plantation
Agriculture. Name a few important plantation

crops from different countries.

AYqT

OR

AR SN B TS H a0 HIFTQY

Describe the problems of Indian Agriculture.

4313/(Set : B)

Previous Pathshala




(13) 4313/(Set : B)

24, 9T d HIA B IAEAT qoT AT 1 qU B 5

Describe the production and distribution of Coal

in India.

YqT

OR
ARG | O fogd W T ey e
Write an essay on Hydro Powerin India.

25. WX H e~ IENT Al g SIS 5

Describe the Iron and Steel Industry of India.

STeET

OR

TERT %l AARAIT I THIGT BT dld BIRebl Bl TG
IAEX ied qud BRI

Explain the factors affecting location of

Industries with the help of suitable examples.

4313/(Set : B) P.T.O.

Previous Pathshala




(14) 4313/(Set : B)
26. WG § Ao IRGAl @ THET FH GO B 5

Describe the problems of Slums in India.

YqT

OR

AR § S JgEOT & G H v iR

Describe the nature of "'Water Pollution' in India.

27, Q. T fa¥g & @ AEE -G MERad @ Sifhd
i 1x5=5

Show the following on.the given outline map of

the World :
(i) afeer ofedifes g 9w,
South Atlantic Ocean Route,
(i) e,
London,

4313/(Set : B)

Previous Pathshala




(15) 4313/(Set :

(iii) g,

Mumbai,

(iv) HRd H HH IEH T,

Coffee Producing State of India,

(v) S

Rourkela.

4313/(Set : B)

Previous Pathshala

B)



CLASS : 12th (Sr. Secondary) Code No. 4313
Series : SS-M/2019

Roll No. SET : C
L MAP
GEOGRAPHY
[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 60

° I T F @ [ 54 JIT-TH 7 Fha gE 15 T
79727 81

Please make sure that the printed pages in this
question paper are 15 in number and it contains

27 questions.

° T97-YF H qlfed &1 @l S R4 T4 FE T_T T G FH
B F-GIéTel % §&g-95 g7 [ord)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.

4313/(Set : C) P.T.O.

Previous Pathshala




(2) 4313/(Set : C)

® YT J97 F FIV [i@T §&@ #I7 d Bl FIT B FHEH
T fored

Before beginning to answer a question, its Serial

Number must be written.
» JTT-giaH % &5 4 @il G/ 91 T B
Don’t leave blank page/pages in your answer-book.

o FUT-gRTE % Slandd @ o de TE AR o
STaeTHAarT & ki@ 3T iar Gay 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o TXETE] ST TieT To FHT-YA YT a9 [l
Candidates must -write their Roll Number on- the
question paper.

» ZUF 557 F GaT &7 @ gd 48 GAREad &Y o [F Je7-0E
g7 a @&l & GhEr % ST 39 a5 § #HE A a@r
@B Tel 13T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4313/(Set : C)

Previous Pathshala




(3) 4313/(Set : C)

G 35T : -

(i)
(%)
(iii)
(iv)
(v)

vy
(vii)

a4t g97 g &
JA% 97 & 3% Iq% GrHT F9T T &

T & TV FTH HABFAT §

797 G 27 [397 % qAEE # A3T @ e 8l
g & A @ ET ST Fae-gikawl & &E
Forged & ST

B[ Y 91 G-Il &l %% Savq [7a)
5 3@l g Z8 goHl 4 Gl w97 JaIT 59T

8 08 gea 7 @ ongml dad @ & g7
FOTT &

General Instructions : -

(9
(%)

(iii)

4313/(Set :

All questions are compulsory.

Marks for each question are indicated

against it.

Answer questions according to their marks.

C) P.T.O.

Previous Pathshala




(4) 4313/(Set : C)

(iv) Question No. 27 is related to filling the
outline map of the World.

(v) After filling the map of the World it should be

securely tied in the middle of the answer-book.

(vi) You must write your Answer-book Serial No.

on the map.

(vii) Internal choice is given in some questions of
5 marks. You have to attempt only one of

the given choice in such questions.

1. ST 0 HI-a1 e G397 &1 987 87 1

Which industrial region of Japan is densely

populated ?

2. YOE & & g4 FH o 1

Write two main factors of Migration ?

3. RU-gE TRET & & FEwieR & W e BN
qHe faeTd SR HaveH TEg Bl 1

Name the two South-east Asia economists who
first put forward the Idea of Human

Development.

4313/(Set : C)

Previous Pathshala




(5) 4313/(Set : C)
4, Y ST fhe I B T B ? 1

Addis Ababa is the capital of which country ?

5. URTH M9 ¥ 99 ® § SUES &4 b A9 ol 1

Write the name of two producing areas of Tea in

West Bengal.

6. e € s fha T § Rya ® ? 1

In which State Bhilai Steel Plant is situated ?

7. ‘3UE(OPEC) H 0 AW | 1

Write the full name of 'OPEC'.

8. ‘THABARGT WHR' & & B8R W Ryd e & TM
o | 1

Write the name of the Eastern Terminal of

'"Trans-Siberian Railway'.

4313/(Set : C) P.T.O.

Previous Pathshala




(6) 4313/(Set : C)

9. 9Rd H woH Ioft & TRl P TEET HR FM & ¢ 1

What is the population size of the Class Ist cities

in India ?

10. f=fifed & § $F-61 U A9 TG & IUH 78T
7 1

Which one of the following is not an approach in

Human Geography ?

(A) Areal differentiation

(B) Quantitative revolution
(C) Spatial organisation

(D) Exploration & description

4313/(Set : C)

Previous Pathshala




(7) 4313/(Set : C)
11. fr=ifefaa & § f-91 tF ufoes a1® 78 2 7 1

(M) SR

(7) fafemr/Aufe gl

Which one of the following is not a push factor ?
(A)  Water shortage

(B) Epidemics

(C) Unemployment

(D) Medical/Educational facilities

12. ffaRad & § BF-91 TR T4 ¢ W aRd 787 8 ¢

(®) o (@)
(M) wem (9) i
4313/(Set : C) P.T.O.

Previous Pathshala




(8) 4313/(Set : C)

Which one of the following towns is not situated

along the bank of a river ?
(A) Agra (B) Bhopal

(C) Patna (D) Kolkata

13. fFefafag & § ®F-91 & o SHoeH 9 &89 78
g7 1

Which one of the following is not an area of

sparse population ?
(A) The Atacama

(B) Equatorial Region
(C) South-East Asia

(D) Polar Regions

4313/(Set : C)

Previous Pathshala




(9) 4313/(Set : C)
14. f=fofeg § § B9- orefegawen § SaR" & @iy

FfRTT il & ? 1
() wwoER (@) i
(1) Gofrer (@) @K A T

In which one of the following types of economy

are the factors of production owned individually ?
(A).. Socialist (B)  Mixed
(C) Capitalist (D) - None

15. ffoied & § H9-91 U6 ©—s 9 & 2 1

(%) fasmEmEeT (@) TR
(M 3= (2) efeem
Which one of the following is a landlocked
harbour ?
(A) Visakhapatnam (B) Ennore
(C) Mumbai (D) Haldia
4313/(Set : C) P.T.O.

Previous Pathshala




16.

17.

18.

19.

(10) 4313/(Set : C)
TaTE & STk IR @ § ? 2

What are the demographic consequences of

migration ?

TR § IR 1 g B 7 2

What do you mean by Communication ?

T foeg aftar & 2 ? 2

What are Wet Point Settlements ?

AU ARG B ARSI A" Ag fame & ')
® § PO SR 3

Give two reasons for low levels of Human
Development in most of the Northern States of

India.

4313/(Set : C)

Previous Pathshala




(11) 4313/(Set : C)

20. R TH T FAM A H REE W FA GHNED

UHIT UST & 7 3

What are the positive impacts of Indira Gandhi

Canal Command Area on Irrigation ?

21. fI99 &R &M (WTO) & STaRd & HF-HH-4

g7 3

What are the basic functions of the World Trade

Organisation ?

22, IR H EESAl H  AQERE  GHEd B [GGL
T 5

Give an account of the occupational structure of

India's population.

4313/(Set : C) P.T.O.

Previous Pathshala




23.

(12) 4313/(Set : C)

3TeE

OR

HHal & JTHRIBT S AT Hifoid|

Explain Naturalization of Humans.

ARG P B TS BT GO HioTg| 5

Describe the problems of Indian Agriculture.

HAYqr

OR

e Fale B & #&1 AmE 7 36 & IeF ThRI @
U &

What is Intensive Subsistence Farming ?

Describe its two main types.

4313/(Set : C)

Previous Pathshala




(13) 4313/(Set : C)
24. AR & UgIeEH GEEH W O fegd ool kel 5

Write a detailed notes on the Petroleum

Resources of India.

STeET

OR

qrd ¥ @fee et & faaeer & aoiF &R

Describe the distribution of Mineral Belts of

India.

25. WRA ¥ Gail g I B9 BT 5

Describe the Cotton Textile Industry in India.

YqT

OR

TR0 e Josl H aU i

Explain the Mumbai-Pune Industrial Region.
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26. Y-FTIHT B FH B B IUE GIHEU 5

Suggest measures for reduction of land

degradation.

STeE

OR

‘qg YGOT’ & HIROT g T Bl A0 B

Describe the causes and effects of 'Air Pollution'.

27. U T ey & @ TEE W AERREgd B Sifed

P 1x5=5
Show the following on the' given outline map of
the World :

(i) e o,

Buenos Aires,
(i) e,
London,
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(i) q=E T,

Mumbai High,

(iv) 9™aa,

Panipat,

(v) efRem & é
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Please make sure that the printed pages in this
question paper are 15 in number and it contains

27 questions.

° T97-YF H qlfed &1 @l S R4 T4 FE T_T T G FH
B F-GIéTel % §&g-95 g7 [ord)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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® YT J97 F FIV [i@T §&@ #I7 d Bl FIT B FHEH
T fored

Before beginning to answer a question, its Serial

Number must be written.
» JTT-giaH % &5 4 @il G/ 91 T B
Don’t leave blank page/pages in your answer-book.

o FUT-gRTE % Slandd @ o de TE AR o
STaeTHAarT & ki@ 3T iar Gay 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o TXETE] ST TieT To FHT-YA YT a9 [l
Candidates must -write their Roll Number on- the
question paper.

» ZUF 557 F GaT &7 @ gd 48 GAREad &Y o [F Je7-0E
g7 a @&l & GhEr % ST 39 a5 § #HE A a@r
@B Tel 13T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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G 35T : -

(i)
(%)
(iii)
(iv)
(v)

vy
(vii)

a4t g97 g &
JA% 97 & 3% Iq% GrHT F9T T &

T & TV FTH HABFAT §

797 G 27 [397 % qAEE # A3T @ e 8l
g & A @ ET ST Fae-gikawl & &E
Forged & ST

B[ Y 91 G-Il &l %% Savq [7a)
5 3@l g Z8 goHl 4 Gl w97 JaIT 59T

8 08 gea 7 @ ongml dad @ & g7
FOTT &

General Instructions : -

(9
(%)

(iii)

4313/(Set :

All questions are compulsory.

Marks for each question are indicated

against it.

Answer questions according to their marks.
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(4) 4313/(Set : D)
(iv) Question No. 27 is related to filling the
outline map of the World.

(v) After filling the map of the World it should be

securely tied in the middle of the answer-book.

(vi) You must write your Answer-book Serial No.

on the map.

(vii) Internal choice is given in some questions of
5 marks. You have to attempt only one of

the given choice in such questions.

1. e wif~a & 999 e @ e G ot 7 1

What was the total population of the World at

the time of Industrial Revolution ?

2. 9Rd % %9 Ty § waitas e § ? 1

Which State of India has maximum migrants ?

3. WY T/ & & BRI W Rd g+ & A ford 1

Write the name of the two terminal ports of Suez

Canal.
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4. Fp9 JENT &I STET J&NT Fad © ¢ 1

Which industry is called the basic industry ?
5. J5-T &el R § 7 1
Where is Mumbai-High located ?

6. ST TR 3 999 98 WK & AW | 1

Write the name of the largest Metropolitan City

of Uttar Pradesh.

7. STHRT (NAFTA) & QU 9 foe| 1

Write the full name of 'NAFTA'.

8. AMA fdHM Gechich Pl iU He fhar T ? 1

When was Human Development Index created ?

9. TE-Ui¥eM AR & & A~ ®d & W o 1

Write the name of the two terminal stations of

East-West Corridor.
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10. f=afed & & ®F-A1 Th o AR TR & S
I R 1 i qewEqel HRE o ¢ 1

(%) = s
(@) shenfra
() < % orgea

() wraE AEER

Which one of the following is the most important
factor in the interaction between people and

environment ?

(A) Human-intelligence
(B) Technology

(C) Peoples perception

(D) Human brotherhood
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11. foEgt & yag i e 5 g § arftes B ° 1

(@) IEfor & TRE
(@) zmfeT & A
(M) TE § FE
(9) = & e

In which stream female migration is highest ?
(A)  Rural to Urban

(B) Rural to Rural

(C) Urban to Urban

(D) Urban to Rural

12. Frefafad § 8 SF-91 9Ra § I6Y 56 @ T HRO

g7 1

() frem (@) fa=

(M) = (8) ®M AR T
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Which one of the following is the main reason for

male migration in India ?
(A) Education

(B) Marriage

(C) Business

(D) Work & Employment

13. B9 & ¥ 9 Ry # yofed gEMad g S @l
g7 1

(%) @RS gl
(@) g =
() T =T

(9) wEderE
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In which of the following regions has the oldest

well documented urban settlement found ?
(A) Huang He Valley

(B) Indus Valley

(C) Nile Valley

(D) Mesopotamia

14, fo@@sia 351 & SHee & A o @ Jed o
HETETSA Bl G o DIA-E THL % WA o
g ? 1
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Sufficiency of which type of resource can help to
create adequate social infrastructure catering to
the needs of the large population in the

developing countries ?
(A) Financial (B) Human
(C) Natural (D) Social

15. Fr=fafed & & fow To0 & yq@ o &9 Remw & 7 1

(%) omm (@) f=r

(W), TroTer (9) -, IS

Which out of the following States has major oil
fields ?

(A) Assam (B) Bihar

(C) Rajasthan (D) Tamil Nadu

16. ‘Sfgud= Al SR ‘fed o & R yamr #
R T FHI 2

Differentiate between the 'lifetime migrants' and

'migrants by last residence'.
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17. Rl & TBLOT & FA1 ER & 7 2
What is the basis of classifying settlements ?

18. @M =gy~ q F1 APEE § ? 2
What is the Golden Quadrilateral ?

19. 9RG & foRsh @R i e fadvan ford 3
Mention the characteristics of India's Foreign
Trade.

20. A faHE Gadis & AER T ol Hl FhHT B
TR R ST & 2 3
How are countries classified on the basis of
Human Development Index ?

21. GUEF A o1 TRRE FEE § o W w3
Distinguish between Sectoral Planning and
Regional Planning.
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22.

23.

(12) 4313/(Set : D)
qRd & 9 aRaRi & Afes fawer & Gl foawer
K1Y 5

Discuss briefly the geographical distribution of

different language families in India.

3TeE

OR

qRA &l TTGETT b b GEe & [Gdg=T R

Discuss - the religious. composition of Indian

Population.

WA 9 & FY S [W0-S9gE s aRReRE
UM P AR & 39% SdRT X faavr & Sww
Exy 5

Describe the geographical conditions required
for the cultivation of Tea. Mention its production

and distribution in India.
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e
OR

Ted Fate H & F&1 AHE 2 7 I @ T THRI @
U &

What is Intensive Subsistence Farming ?

Describe its two main types.

24. 9G¥ @i Ufedt & faqver & aue &R 5

Describe  the distribution “of Mineral Belts of

India.

YT

OR

IR § qe-91%h & IdeT a2l [Ia<eT &l goid Hi

Describe the production and distribution of Iron-

ore in India.
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25. 9RJ ¥ IR &l STaRAfd ® IAAd T ard B Bl

26.

IaTEX 9fed quie ST 5

Explain the factors affecting location of

Industries in India with examples.

YqT

OR

TREed X HARX Raetl &l QEHAT ® RS T
B

Explain in detail the significance of Transport

and Communication Services:

‘ST TG HIRET, HHE SR I & a9 B, 5

Discuss the causes, effects and solutions of

'Noise Pollution':

YqT

OR

‘G-{FIRr W T e fefm

Write a note on 'Land Degradation'.
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27. Ru W fGyg & @ AFkE W Fefofaa & sifed

I - 1x5=5
Show the following on the given outline map of
the World :

() i R,

Maxico city,
(ii) 9™ FEY,
Panama Canal,
(iti) ARG,
Tarapur,
(iv) faemameem,
Visakhapatnam,
(v) ¥IA %l IE SqEsh T9Y|

Tea Producing State of India.
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